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Questions 1 to 10 carry 1 mark each. Questions 11 to 16 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3, or 4) on the
Opftical Answer Sheet,

(20 marks)

1. Five hundred and two thousand, seven hundred and thirteen in numerals

(1) 52713
(2) 502713
(3) 520713
{4y 5002713
. 8 219 408 = 8 000 €00 + + 406
What is the missing number?
(1) 21900
2) 219000
(3 2180000
(4) 21900000
3. Mrs Chan bought a car for $108 000 when rounded to the nearest $1000.

Which of the following is the possible value of tha car?

(1)
{2)
(3)
(4)

$107 006
$107 499
$108 255
$108 820
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Sandy Is thinking of a 7-digit number. The digit in the millions place is
twice the digit In the ten thousands place. Which one of the following
numbers is Sandy thinking of?

(1) 4732508
(2) 4280759
3y 4173529

4) 4023759

Express 7.04 as a fraction.
1
W T
1
{2) 250
2
75
&) 5
: 37
@ I
314 = tenths
(1) 314
2y 31
3 8
@ 4
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Which of the following numbers are amanged from the smallest to the
largest?

(1) 076, 7.08 , 0.076 , 0.706
) 7.08 ., 076, 0.708 , 0.076
(3) 0076, 076 , 0.706 , 7.06
(4 0078, 0.706 , 0.76 , 7.08

Round 9.805 to 2 decimal places.
{1) 9.80
2) 981
{(3) 9.0
4) 991

Kym, Lydia and Maria shared.$380. Kym recsived $120. Lydia received
$42 less than Maria. Find the amount of money Lydia recelved,

(1) $88

2 $109
(3 $130
@) $151
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10.  In the number line below, what Is the fraction indicaied by the amow?

Q
N e —t—

M 3
@ 3
@ 2
@ 3

11, Find the value of A.

31 _3 2
12°2%"12
(1) 49
2) 28
{3} 18
{4) 13
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12.  Which one of the following fractions is greater than -;- but smatier

3
Ihan-‘-'-?
3
(1) ry
4
@ <
5
(3) m
7
(4) 5

13.  Jasmin had soms straws. She packed % of them equally into 3 bundies.

Each bundle had 24 straws, How many straws did she have at first?

(1 162
@ 218
3 360
(4) 648
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14.

15.

There were 880 balloons at a funfair. 448 of the balloons were yellow in
colour and the rest were red or blus. There were 3 imes as many red
balloons as biue balloons, Which of the following number statements
shows the number of blue balloons?

(1)  (860-448)+3
(2) (960-448)+ 4
(3) 960-44B+3+1
(4) 960-448+3-1

A bag of 75 marbles was shared among 6 chikiren. P took a marble first

.and passed on the bag In a clockwise direction, as shown in the figure

below. Each child took ons marbla at a time. How many marbles would
R get when no marble-was left In the bag?

(1) 10
@ 12
@) 13
@) 15

** END OF BOOKLET A™
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Questlons 18 to 20 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.
(6 marks)

16. Find the value of 170 x 500.

17.  Find the value of 3 + 8. Express your answer as a decimal.

Ans:

18. Amenge the cards shown below to form the smallest four-digit whole number
that Is divisible by 5. Each digit should be used once oniy.

oJ 7]

Ans ;

Do not
write in
this
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18. A piece of rope measuring 12.18 m is cut equally into 8 smaller pisces. What is | Do not
write in

the length of each smaller plece of rope? this
space

Ans : m

20. Findthevalueof 6+24 +8x2-3.

Ans :
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Questions 21 to 30 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (20 marks)

21.  The figure below shows a container filled with some water. How much more
water is needed to fill the container with 2£ of water? Leave your answer as

a decimal.

2

Ans ;- 4

22. 20 pupils were each given 15 tickets for a school concert to sell. 5 of them sokd

10 tickets each and the rest sold all their tickets. How many tickels were sold?

Do not
write in
this space
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23. At a sclence camp, participants are divided into Team A and Team B. —3- of

the participants are in Team A. There are 114 more participants in Team B
than Team A. How many participants are there in Team B?

24, The table below shows the number of children attending art and piano
classes at an enrichment centre. What fraction of the children at the centre
are gifls? Express your answer in its simplest form.

Do not
wrile in
this space

Class ' Boys__ : Girls
At 9 10
Piano 8 8
Ans ;
5
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25.

28.

27,

The product of three numbers is 5400. Two of the numbers are 200 and 9.
Find the third number.

Ans

Nathan and Michael were jogging at the stadium. Nathan Jogged 1.8 km and
Michael jogged 0.85 km further than Nathan. Find the total distance covered
by the two boys.

Ans: km

4 cheese cakes were shared equally among 6 children. What fraction of a cake
did each child get? Express your answer in its simplest form.

Ans

Do not
wille in
this space
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28.

29,

Metanie used some white and grey tiles to form figures that follow a pattern,
The first three figures are shown below.

)

Figure 1 Figure 2 Figure 3

How many white tiles would she need to form Figure 77

Ans :

Five identical flags were hung on a pole as shown below. The flags were
piaced 120 cm equally apart. Whal was the length of the pole?

: ? :
] —-A‘-..._ L
Ve 120cm ~:
] 1] ]
] {3 4
Y ?
] [ ] )

] 1 )
; 182 : 2nd -------- FLARABRsaTRBLRAS 5“‘] :

% ] ]
"32 ¢cm

Ans; cm
4
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30. Irene and Jane have 300 stickers altogether. Irene has 4 times 2s many stickers | Do not

wiite in
as Jane. How many slickers must Irene give Jane so that they have an equal | this space

number of stickers?

""END OF PAPER 1**
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Questions 1 to § cany 2 marks each. Show your working clearly and write your Do not
answers in the spaces provided. For questions which require units, give your write |
answers in the unils stated. this space

(10 marks)

1. There are 40 principals and 128 teachers at a 1alk. All the principals are women.

g of the teachers are men. How many women are there altogether?

Ans:

2. Mrs Julle had -;- kg of sugar. She bought another-g- kg of sugar. She then

used the sugar to bake some biscuils. In the end, she had % kg of sugar left.
How much sugar did she use?

Ans: kg
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3.

A packet of peanuts cost $2,55, The cost of 5 such packets of peanuts was the
same as the cost of 3 packets of almonds. Each packet of almonds cost the
same. How much did 1 packet of almonds cost?

Ans:$

Lirdy thought of a mixed number. When she sublracted the mixed number
from 10, she got 7% as the answer. If she were to subtract the same mixed

number from 6-;-. what would be the ahswer? Express your answer as a mixed
number in the simplest form.

Do not
write in
this space

www.testpapersfree.com




The table below shows the difference between the digits in some 2-digit
numbers.

Number Working Difference between the digits
18 8-1=5 5
29 9-2=7 7
42 4-2=2 2

List all the 2-digit numbers, from 50 to 69, in which the digits have a-difference
of 3.

Ans

Do not
wiite In
this space
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For questions 6 to 17, show your working clearly and write your answers in the | Donot
spaces provided. The number of marks available is shown in brackets [ }at the end t“;’)‘}‘f in

of of each question or part-question. space
(45 marks)

6. A box containg white and purple marbles. % of the marbles are white,

There are 133 purple marbles in the box. Find the total number of marbles
in the box.

Ans : &3]

7. 6 ldentical cushion covers and 2 Jdentical rugs cost $88. 1 such cushion cover
and 1 such rug cost $20. What is the cost of 1 cushion cover?

Ans [3] H

www.testpapersfree.com



Do not
8 Raj bought 35 party poppers al 7 for $66. Then he bought some fight sticks v

3 this
at O for $8. He'spent a tolal of $442 on the paity poppers and light sticks. How
many light sticks did he buy?

Ans: B “
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9.

Collin paid 2 total of $181 for a shirt, a pair of pants and a tie. The pair of pants
cost $15 less than the shirt. The shirt cost 2 fimes as much as the fie.
How much did the pair of pants cost?

Ans : : 13

www.testpapersfree.com
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10.  Dilys had 117 more beads than Elaine. After Elaine gave away 75 beads, Do not
Bilys had 3 times as many beads as Elaing. ‘How many beads did Elaine mﬂ I

have at first?

Ans : [3] II . :
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11, Three children sold some muffins at a camival. Amy sold % of these mufiins,

Bosco sold 30 more muffins than Amy: Cathy sold the remaining 162 muffins.
How many muffins did they sell altogether?

Ans : {3]

Do not
wiite in
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12

The table below shows the number of pens in 3 boxes, A, B and C.

Box Number of pens
A 460
B 272
c 584

An equal number of pens were removed from each of the 3 boxes. Box C
then had 4 times as many pens left as Box B. How many pens were there In

Box A in the end?

Ans :

10
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13.

. There was a total of 336 red chairs and blue chairs in a school hall. There

were 72 more red chairs than blue chairs. All the chairs were arranged
équally in rows of 12, Each row was made up of only red chairs or blue
chairs. How many rows of red chairs were there?

Ans [4]

11
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14.

in March, Mr Lawry sold 45 computers. In April, he sold % of the number of
computers sold in March.
(@) How many computers did he sell in March and April altogsather?
{b) For each computer Mr Lawry sold, he was paid $50. For every
5 computers sold, he received an additional amownt of $90.
Find the total amount of money he received in April.

Ans ; {(a)

{b}

(2]

i3]

Do nol
wilte in

12
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18.

Mr Ong had-a total number of 576 toys in 2 shops, P and Q. After he
transferred 80 toys from Shop Q to Shop P, Shop P had 8 fimes as many
toys as Shop Q. How many toys were there in Shop P at first?

Ans:

J4}

Do aot
wrile In
this

space

13
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16.

Harrlet, Ben and Celestine shared 318 cards equally. During a game, Ben
lost 52 cards to Hanlet and Celestine lost half of her cands to Harriet. How
many more cards did Hamiet have than Celestine in the end?

Do not
writa in

(4)

14
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17.

A shopkeeper had some mangoes in 3 sizes. The number of medium mangoes
was twice the number of large mangoes. The number of large mangoes was
three times the number of small mangoes. The table below shows the prices of

the mangoss.
Size Price of 1 mango
Smak $4
Medium 37
Large 35

He sold all the small and medium mangoes. He received $486 from selling ?_1,' of

the iarge mangoes.

{a) How many large mangoes did he have at first?

{(b) How much more did he collect from selling the medium mangoes than the

small mangoes?

Ans : (a) {2}

{b) i3

™ End of Paper **

16
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EXAM PAPER 2017 (P5)
SCHOOL : CHl
SUBJECT : MATHEMATICS

TERM : CA1l

Q1 Q2 a3 Q4 Qs Q6 Q7 | a8 [ a1
2 2 3 4 1 1 4 2 3
Q11 Q12 Q13 Q14 Qis
| 4 4 1 2 3

16)170 x 500 = 170 x 5 x 100
=850 x 100 = 85000
17)3+ 8 =0.375
18)5790
19)12.18 = 6 =2,03
20)=6+4x2-3
=6+8-3
=14-3=11

21)2-0.8=1.2L
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22)5 sold>10 x 5 = 50
Rest 220-5=15
Rest + Sold > 15 x 15 =225
Total sold =50 + 225 = 275
23)3 units 2114
1 unit-> 114--3 =38
5 units=>38 x 5 =190
24)total boys and girls 29+ 10+ 6 + 8 = 33
Total girls >10 +8 = 18
18/33 - 3=6/11
25)200 x 9 = 1800
5400-- 1800 =3
26)Michael >1.8 + 0.85 = 2.65
Total 22.65 + 1.8 = 4.45km
27)4+6 < a/6=2/3
28)Figure4 27+2=9
Figure5 29+2=11
Figure6 > 11+2=13
Figure7 213 +2=15
29)5 flags 232 x5 =160
Total distance apart 2120 X 4 = 480
Total length of pole =160 + 480 = 640 cm
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30)1 unit =300+ 5 = 60
4 units = 60 x4 = 240
3 units =240 -60 =180

give Jane 2 1802 =90

paper 2
1)1 unit = 128+ 8 = 16
Women teachers > 8/8 —5/8 = 3/8
Bunits=16x3 =48
Total women 248 + 40 = 88
2) %2+3/5=5/10+6/10=11/10
Used 2>11/10-3/10=8/10 = 4/5 kg
3)5 packets of peanuts—=>$2.55 x 5 = $12.75
3 packets of almonds ©$12.75
1 packet of almonds $12.75=+-3 = $4.25
4)61/6 x3 = 63/18
27/9 x2= 214/18
63/18 — 214/18 = 521/18 — 214/18 = 37/18
5)52 (52 = 3)
58 (8-5=3)
63 (6—3=3)
69 (9-6 = 3)
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6)purple marbles>11/11-4/11=7/11
7 units =133
1unit=133+-7=19
11 units =19 x 11 =209
7)2 cushion coves and 2 rugs=>$20 x 2 = $40
4 cushion covers 2>$88 — $40 = $48
1 cushion coves 2548 +4 = $12
8)total party poppers bought—>$66 x 5 = $330
money spent on light sticks—>5442 — $330 = $112
$112:58=14
Total light sticks bought=>14 x9 = 126
9)5 units = $181 + $15 = $196
1 unit = $196+5 = $39.20
2 units ='$39.20 x 2 = $78.40
Pair of Pants—>$78.40 - $15 = $63.40
10)2 units = 117 + 75 = 192
Lunit=192-<-2=96
Elaine have at first 296 + 75 = 171
11)4 units = 162 + 30 = 192
lunit=192=-4=48

6 units =48 x 6 = 288
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12)3 units = 584 — 272 = 312
lunit=312-3=104
4 units =104 x4 = 416
Removed—>584 - 416 = 168
Box A in the end 2460 — 168 = 292
13)336 + 72 = 408
40812 =204
204=12=17
14)1 unit=45-+-3 =15
5units=15x5=75
April 215 x2 =30
Each computer->30 x $50 = $1500:
30-5=6
$90 x 6 = $540
Total money in April = $1500 + $540 = $2040
_a)75
b)$2040
15)9 units =576
lunit=576-9=64
Shop Q at first>576 -9 =64
Shop P at first 2576 — 154 = 422
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16)3 units = 318
1 unit=318--3 =106
Celestine in the end 21062 =53
Harriet in the end 2106 + 53 + 52 = 211
211-53 =158

17)1 unit = $486 =+ $9 =54
3units=54x3 =162
No. of Medium mangoes 254 x 6 = 324
Medium mangoes: Amt collected—>324 x $7 = $2268
162= 2=54
Small mangoes: Amt collected>54 x $4 = 216
Amt collected 52268 — $216 = $2052
a)162
b)$2052
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